ﬁv_f" 2 1&1 ey 2
_ Dedecenian, s..:.Lo..Jan.r {-15 cm‘i-mumb, Plecawise cmﬁ: AUoUS |

.:prfmﬁs_lr;n_.(ﬁi.a). : P L e
LR (£, ostel .

‘t’-\-l.\r 1ete2 3 a/\a

R

\ o
2T =
o 'F&} ‘Ij‘ Q"‘"’:“'
L 14
3t et /—_\
Contindods i i )
i Z _A
e ; -
b ;?Cm‘tg:i; e Teosaldt
U=tesatt dwT masginad
ot ok Lgt
dy=e s V= "Se .
=~ tam d’} "-?».F' sinat dt
= 5 s S0
=d *5‘[%'2-5{54"@.{:# y BZD
Nl
.Lk =sinat  du= acosat
dyze st e



s |

e

=i E:}-D e L Ebﬁﬂ_‘a
S L

£ 3

i s f 1
: | S R . e Pl 48 i
(14 | Fhesetd = faha? | Fioiads

/

K 5?_} E'L j;

ﬁnaﬁﬁﬂ‘ii e 1 y37e
Sheg
13l .
( ;f‘i 5 e ;;X : )§
2,4 \ZA s5%+2% .E
=37z ¢
R T
"3 sin2t
¥
e
st 3s-4 ) (i )s-1)
tartial Frachons:

cwf)(s*s}’ st 5
s=1 5B=2 = B 75
e e, A =7 — A= /Sz

A S K =

Fin] ; 2
i - gi =g 51m. e ccsﬁ.{',;if
3 5{_

= Mé‘i} + Btﬂ*""f)

(s+4)s-1)



I, 3“ xj &3 4y} =, 5'{::-J="f
o?"?‘j : égg =Z70f
07?5 g-of%f 65
ﬁ Yes) *sy(a}‘yi’a}) (5}{-'_’5 ~ Jt6))-6Y6) =
(s*-s -6) Yrs) "sy{ﬂ} }’%J"‘}’fﬁl O
{s*s-6) Is) = 5-2
Yi)= ", ROENE W, )
S (s-3Y5+2)

Betal Frachns: s =A +B =AGt>)+Bl-2)

(5-3kst2) -3 542 (5-3)(+2)
5=-2 -5R =% -5 PB=
223 SA=I ':-"-'d‘":'rg‘
U= st = az‘“';__s"’; £ £
73 :s-u)
EXT S Ee P
(s-3) /:S-fg J
ey e

S S



5&33 4 \S
Wbt = (3VU-2) - (-2 Ut-3)
= (-2)UlE-2)- Ul-2) - (-3) UH-3)= Ul4-3)
LI (t2)tili-2) ~Ult-2)- (¢-3) UH-3)- U F-3)5.
=R U5 i tUl-2)S - LIEDUES) §~L U E3)5-
OPch TR L 1 o
| s 5

RS =eS
stig-2

A ]

e
)

LIF6)s =5 L g ol
| 5t4s-2 \ ?fuei(s-;}f}
18R = A+ B = As-01BGiz)
42061 zrz s (s+2)5-1)

521 3p=1 >B=/4

5=z =3h=l SAA

a"“’?i 2Rl = ‘.icf"'j-l—é/uf’zf;j? -
| Usk2 .‘;J—j NS Ty e e e
' =ote?s e

g0
4




Recollt L e 05 F5)S =4 tba) Uit -]
a=2
Pl __L&—Ltk-nzj -l-__'l_afu
3 3
ba-a) te-o) = L(€¥ - ) tt=2)
!

2

5 G6) = 250>
A A

-l - T O
v g ?e zﬁ(itiw_‘s ) >
3
S5hedoial
R

—t
Fs)

From 4okl Jfaﬁ‘{‘coabff i o - s%a
(sa)t+h?
Jf:“"éméé% =& 5»a.,
Gra)+bh*

(o +h? =52 =Zas+(a2+b®) =57 -25+2

-

a=|{ at=|

T S— e :

I*'}gz_@ £-a z.,z‘“ié.:.i__g

s2-25+2 Cs—1)541™

:ZE{:C:Q:;E
=ftt)

22

Ple-2)tlt2) = 2 P costt-2) U [£-2)



gty =) ftjiﬂ"-u =5 | i
(/o)1 ‘{, H ;__r
= -Ut-T%)
offy*-ﬂj.: ["ff('f‘ Ilf
L3y ey = X515 5L TS
B I ~ Sylo) - y?'&l *}’(’5]* oL 'er%
- S
refial-1= L g3
-
(c=0¥s) = { -£5 =]
s . 5
A S
Weiz ] e 2"'___1_...) T8
S(s24i) s(s*t] 3%
Ay
fe) = a A+ BarC =A%)+ Bat+Gs
;{;'m: s sl _ s(s*+ 1]
& A
B=-/
C=0
LCRN G U EE A IR g
. b <y
g Z,\_é =il &4
5 (s2+1)
= |- ecest

Tan e 2 Flo) | = f D)



Tan 13&3 “ff .’Z(_L. - .ﬂﬂgﬁ(_i_
LH){

=5 V4 ) ‘
5 52-4‘!} j?.{fi

‘-“r_?i"' ‘ _i‘\é ‘Eﬁ( _;f +Df‘" __L‘:
ki ) b 52-1‘[) ] ._;

Jl
=l-cost - 'Ff‘f"jtz,:'ﬂﬂ" E.J + s5int

lreast = ((-coslt- L) UET] +sid
locost ~U\=sint ) U/l - T rsint

el
j{.-'l O

54"ty 2y = At ?
§

L) =$ |, 02t
‘o)z o {D[ tiio
&f?"ﬁ-?.uj'*?l'js J(I (/=08 ==L/t ~10)
;f;““wjl‘“;. 3yt = L3S ~ )]
‘1!{5:"-5}; fo) = ,*viiﬂ;is:-'gia r s -
> 5
(sT+3s4z)j Mzl =4 -2 ™
}"5.:1,,. - iie TR, g i 5 s
s(s?pas+2) o{sE 3547} /
T A+ B +C =AGH)e2)+«Ralsva) + Cslsr)
s(s*43542) B !SH st2 s(sti)s+2)
s=o ZA=1 > Az
s=-1 'TEST-I -> B=-}

e O i S R :-!-
A TN



T 8= LS

S LR R 2'5
3 e R ¢ :
LIS s 'Pi__f-g'
s/ SH ) stz _J
2] —et+ e
Z L
Tan o5 702 ts) § = Fl-10) Ult—to)
5@.3&'} x'!%\/fﬂ}_} 5 :
172 "‘__.L%—i -Eiua(_L_ - +_}1_"_)g’/
?{__ Sl f:r%z_) S g )
£ Y =l +Z -;f*‘ge"““'(_'z‘_ -+ 2§
5 - =i ;q.aﬁ 5 i -f_',r_,JlJ
=t e +J_e: B 4e) Ut -10)
Z z
= .- -"i'__]_ E_-Zf 4-{]_ g E-&-m} LLéZ&h'ﬂ}} Cﬁ% -m]‘ |
Z z s Z /
+
?"jmﬂi#j&i ? SLQ'FD 31% ?_i , O%t<o
y'lo)*| 3 26
_t .
=27 2 Ult6)+ 3UKE-6)
=% -3 lAe-0) e ug-ol
=5 -5 [u )],

':.-'t "L a2 gy |
gfww?i; h l(*'éhfe’f',:;;
& B -f. et e e "‘}": £ | g _._.‘
Jfﬁ”ﬁf?gz =3 5 =1 ] $-o) U635



s*Y(s) “sylo)-ylo)+#YE) = 1 =1 Paial 1

X
(ADYsY-0-1= 1 — [ &%+
Pl S v
Yes) = z = E‘E"( : j S Let Fls)= _,Jé___
s*(s*+1) s*(s+l)/ g%+ s (s241)
Bodlahas T -4 bl % - F
S'etel) & s> S| gt shy
Ji= As(st+1)+ BGst+!) + Cs® + Ds*
S2o 13D
R TR S )
$=\ J.f'Zﬂ-iZ(L]"’ f{b)-‘ri(.'ii.) =>A=0

Then T8 I iFLs)i

v ;:E
Rap ST

= 1_JC“ 7 s lt)
Recall (e @5 Fis) § = F(¢-0) UG-

SQS&} chﬁ(a)g
’flz -2 -e'@“(i -3 ) Sk §

ST Sl S &4 s+l



:L;fg‘ij aikata —_lf(’(g'_”Sﬂi ZV
1-+| 2 [aF 2 SE41

=)t i sinkt) =L (876 U(t-¢) + ) sinlt-e)U(t-E) tsin#)

S 2 2

=2l 4 lsinlt) + L [Erfn (t-6) = (‘E‘EJJ Ulf-6)
Z 2 2

o



